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/’4, Cell Theory SOL Bio 3a.
A. Name the 4 things all cells have.

Cell pombrane, DNAL MDESINLS | GRSty
B. Fillin the chart below about the Cell Theory
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2™ Nine Weeks Biology Exam Study Guide

Semester |

Date: Block: ___———

Name: U=
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A. Fill in the following chart about the experimental design. i o o
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B. Fill in the following chart about the experimental design.
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2. Cell Division SOL Bio 3e, 5a,f.
A. Fillin the following diagram on mitosis.
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¢. Fillin the following on the Cell Cycle.

a. Asexual reproduction is reproduction with one \‘l_\\ ¢\ sexunl reproduction
requires ___\}"\ VO parents. This helps create genetic \ ) \WWLV S\ ‘

b. The longest phase of the cell cycle is AP
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3. Metabolism SOL Bio 2d, 3bc, 4a.
Write the photosynthesis equation in the boxes below.
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/ Write the cellular respiration equation in the boxes below.
Ute0 | +|Lth

Fill in the appropriate vocabulary words below about cellular respiration.
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There are ) _ processes to cellular respiration.
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This is where glucose is broken down.
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E. When we do anaerobic respiration and fermentation occurs, our cells produce a buildup of

\0\( L ((’\(,\d and our muscles get QU . There are many
beneficial products that come from fermentation. They include:
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2. Krebs Cycle- It is O DIC

A. It produces Z/‘,ﬁ ATPs.

B. The Krebs Cycle occurs in the MITOC NOOAI L which is the powerhouse of the

cell.

3, Electron Transport Chain

5
A. Makes most of the '\ \ 3
B. Atotal of E )Li ATPs.

The products from _@(\O\U(}\\“(\\Y\QS\S are used as the reactants for

(SOI (XN\OY)  and vice versa. That is why _Q\ONWS and animals
__ﬂ}m____ need each other to survive.





